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® 3x-2=5x+38
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® 2x? -7 =x(2x-3)

® x(2+x)=2(x+1)
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@ (7300 + 120)x = (3400 + 250)x
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DO x+4=44+x-9 @ 4x+9 = 4x
® 10x+4=4x-9 @ 10x+4=404+x-9

® 10x+4=40+x+9
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@ 2(4+x)=x+4+4 @ 2(40 + x) = 10x + 4 + 4

® 8x=x+4+4 @ 2(404 x) +4=10x+ 4
® 4x+4=10x+14
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@ 4x-12=5x+3 @ 4x+12=5x-3

® -4x-12=-5x-3 @ -4x+12=-5x-3

® —4x+12=5x-3
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D 12x-18 = 21x @ 12x+ 18 = 21x
® x+2x=18 @ 10x+x=20x+ x
® 10x 4+ 20x = 18
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D 3x-8=4x+54 @ -3x-8=4x+54
® 3x+8=4x+54 @ 3x+8=4x->54

® -3x+8=-4x-54
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@ 3(x-1)-3x

@ bx="Tx—-2x

® 4+5<2+x
5x—5 3x—-3
@ 3 5
® 2(4x+3) =18 +4(2x - 3)
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@ 4000 + 1000x = 10000 + 500x
@ 4000x + 1000 = 10000x + 500

® 4000x + 1000x = 10000x + 500x
@ (4000 + 1000)x = (10000 + 500)x

® 4000 + 10000 = x
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@ 0.08x 4 0.03(480 — x) = 0.07 x 480

@ 0.08x 4 0.03(465 — x) = 7

® 0.08x + 0.03(465 — x) + 15 = 0.07 x 480
@ 0.08(465 — x) 4+ 0.03x = 0.07 x 480

® 0.084+x+0.03+465-x=7
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